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An object is released above the surface of Earth. Which of the following correctly describes the
speed and acceleration before it reaches terminal speed?

Speed Acceleration
A. increases remains constant
B. increases decreases
C. remains constant remains constant
D. remains constant decreases
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An object, initially at rest, travels a distance  in a time ¢ at a constant acceleration. What is the
time taken for the object to travel 164 from rest at the same acceleration?

A let
B. 8
C. &

D 2
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A ball of mass 0.40kg travels horizontally and strikes a vertical wall with a speed of 5.0ms™.
It rebounds horizontally with a speed of 3.0ms™. The ball is in contact with the wall for a time

of 0.20s.
5.0ms™

0.40kg @ ’

3.0ms™

What is the average magnitude of the force exerted by the ball on the wall?

A, 0.16N
B. 0.64N
C. 4N

D. 16N
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The graph shows the variation with distance x of the magnitude of the net force F acting on a body
initially at rest.

Which of the following describes how the kinetic energy and the acceleration of the body change
with distance?

Kinetic energy Acceleration
A. decrease decrease
B. decrease increase
C. increase decrease
D. increase increase
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A spaceship is moving at constant speed in outer space. An internal explosion causes it to break into
two pieces that move in opposite directions. Which of the following best describes what happens to
its total momentum and total kinetic energy as a result of the explosion?

Total momentum | Total kinetic energy

A. unchanged unchanged
B. unchanged increased
C. increased unchanged

D. increased increased
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Aball of mass m is thrown horizontally from a cliff with initial velocity #. Air resistance is negligible.

@_W

A change in which of the following will affect the horizontal distance travelled?
A.  monly

B. wuonly

C.  bothmand u

D. neither m nor u
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A tennis ball is dropped from the top of a high building. Air resistance cannet be neglected.
Which graph represents the variation with time ¢ of the magnitude of the acceleration a of the ball
before it hits the ground?
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A model plane flies with constant velocity at constant height. Which diagram represents the forces
acting on the plane?

Al 4 B.
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Two identical balls are dropped at the same time. Ball A is dropped from a height 7 and ball B from
a height 2/, Air resistance is negligible.

time for B to hit the ground

‘What is the ratio — - ?
time for A to hit the ground

C.

-

N |~
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A person of weight 600N is standing on a weighing scale in a lift (elevator). The lift is accelerating

upwards at 1.0ms~. Which of the following is the reading on the scale?

T a=1.0ms™

A, ON
B. 540N
C. 600N

D. 660N
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Which of the following is necessary for an object to be in translational equilibrium?
A. The object must be stationary.

B. The object must move with a constant speed.

C.  The resultant force acting on the object must be zero.

D. No forces must act on the object.
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Object A of mass m is lifted through a height 4. Object B of mass 2m is lifted through a height 44.
The gravitational field is constant over the height interval. What is the ratio

work done against gravity on object B o

work done against gravity on object A

A1
B. 2
C. 4
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Which of the following is always true for an object moving in a straight line at constant speed?
A. No forces act on the object.

B. No resultant force acts on the object.

C.  The momentum of the object is zero.

D. No work is being done on the object.
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The graph below shows how velocity v varies with time ¢ for a ball thrown vertically upwards from
the Earth’s surface.

The shaded area is equal to the
A.  displacement.

B. final velocity.

C.  change in velocity.

D. acceleration.
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Two identical balls are dropped from a tall building, one a few seconds after the other. Air resistance
is not negligible. As the balls fall, the distance between the balls will

A.  decrease.
B. increase.
C.  increase then remain constant.

D. remain constant.
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An object of mass m is connected via a frictionless pulley to an object of mass A, where M > m.
M rests on a horizontal frictionless surface.

What is the acceleration of the system?
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